FeH 58I B B h SR B AR B KA A 2021/05/20~21 S Fr | SRR e
- [%s2Ed bliani tEirEAb L Al s 5H20H12:00 W 25°C_T4%_FA FA 750.5m/s
ERHEIl A WA b bERL WA PR AR Bt 4, WA B 5H21H12:00 & 25°C_78%_FH0.8m/s
[%+1] 6/13T1E
He &H 1Az 2hr 3hr afr 5hr 6fr Th 8fr
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T UEH(3) O EEG) FJE BEHA(3) S AAEI3) HA IEHG) Ik HEEE3) W () LA ACHR(3)
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LS i SELAEH kit ik TSEEF L L ik
RS [AA 5EQ) 1910| R E HiE(2) 1891t Vo RIf(3) 13894 £ (2) 1304 (A oti(2) 1295|421l BE(2) 1195|411 FHH(©2) 1180[ 2%  ETALE(3) 1007
Wkt L5l FHe gt i bRl iH7E Rikp
55200 110mH 16.91 (+0.4) 17.17 (+0.4) 18.58 (+1.0) 19.71 (+0.4) 20.45 (+1.0) 19.84 (+1.0) 21.79 (+0.4) DQ
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5H21R 4x100mR [ Z5HR(3) 1ak #AEBR) AL HIE) i EAG) AT ELHE(2) W REAG) W NAIEER) it mEG)
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R EARHP it RERR)I A% 4t DAL KA
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5H20H 100mH 16.17 (+0.9) 16.66 (+0.9) 17.86 (+0.9) 18.30 (+0.9) 18.49 (+0.9) 19.69 (+0.9) 20.91 (+0.9) 19.61 (+0.9)
54200 bk 1.40 1.40 115 1.20 115 1.20 1.25 1.25
5H20H L 8.77 8.58 7.49 7.38 753 582 7.08 6.90
5/121A 200m 28.09 (+1.7) 27.53 (+1.7) 29.98 (+1.7) 30,00 (+1.7) 29.60 (+1.7) 28.88 (+1.5) 29.87 (+1.7) 3229 (+1.7)
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A BLEQ) M FA2) M TUER) B Fikh2) S O] i L) R B E0R(2)
LT R 334 i 314 W 304 e 294 s 2844 A% 254 SFIlEE| 21K Wi 194 Wit
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